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AT (3597
TR 14311 %] Sigad Hragr] & 96 3N 7] dxed] § et B :

(i)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

(x)

§7 J97-97 4 38 97 & | @¥t 397 srfAard & |

T8 J97-97 qier @Usl 4 f[dyifsiq 8 — &, @&, M, 909 & /

Gue & H Yo7 qea 1 8 18 % aglasediy (MCQ) a9 ¥97 §&l 19 Uq 20
3BT TF % STTERT Uh-Ueh 3 & 97 3 |

@UE @ 7 J97 &7 21 & 25 T 37ld TH-FTIT (VSA) IR & 31-3t 371 & 97
g1/

@GUE 7T H J97 G&I7 26 @ 31 7% TY-FTIT (SA) IFR & dA-di4/ 37 & 97 & |
TUE T § Y97 67 32 G 35 d% -390 (LA) PR & Tra-Tia 3iHl & J97 5 /
GUS T H o7 G&IT 36 T 38 7% YA eqTT TR =R HHl & Jo7 & |
Jcdeh YT 376997 H TR 9T @1-at 37! & Y97 H 1397 1 & |

J97-97 § GHY fasheq 7871 397 7137 8 | TEf, @ve @ . 2 yul 7, @S 7 & 2 Fel
4, G@vs 7 %2 v 7 797 G@US & & 3 YA -4 SARE [dHT FH JIEaE 1597 T
g1/

3

&l TAH & LTS HHIAl FAET |\TeT avTH & = % T, ate ST
7 e T 8 ) O
depeiet H1 ITINT g/

O

Q
S I

59 @I H FgEHAT I (MCQ) &, 1578 Ii% Jo7 1 37% 1 & |

1.

IE Th A.P. %l €16 IR — 67, Al agy—ay, HAF B

(a) 36
(b) 6
() —36
(d -6
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in' 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. ) 22 . .
Draw neat diagrams u’,@&er required. Take ©t = - wherever required, if not

stated. &
O
Use of calculato&@s not allowed.

§§

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1. If common difference of an A.P. is — 6, then value of agy—a, is:
(a) 36
(b) 6
() —-36
d -6
430/C/1 ~N~~ Page 3 P.T.O.
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2. & T 3l #, sy O 9Tl 94 W PA 3 PB Tei@md € | 7f¢ £ APB = 30°
8, A £ OAB SUX % :

B
O (—p
A
(a) 30° (b)  15°
()  45° @@  10°

3. ﬂﬁ(cosecA=%%,?ﬁtanA.cosAWW@PT[:

7 2.6
24 5
\Q
g\
4 frafafag sea & f?‘r@%
S
¥ FEher | o A dern
10 1
20 5
30 13
40 15
50 16
IgAh 1 @ -
(a) 30 -40 (b) 40-50
(¢) 20 -30 (d) 10 -20
430/C/1 ~N~~ Page 4
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2. In the given figure, PA and PB are tangents to a circle centred at O. If
Z APB = 30°, then £ OAB equals :

B
O (—p
A
(a) 30° (b)  15°
() 45° @ 10°

3. If cosec A = %, then value of tan A.cos A is:

7 26
L b P/
(a) 5 (b) 5
24 5
2= d ~
(c) 19 (d) 7
4. For the following distri &n
N
2 | Number of
Marks 12\‘%® Students
N
ﬁﬁ) 1
20 5
30 13
40 15
50 16
the modal class is :
(a) 30-40 (b) 40-50
(¢) 20-30 (d 10-20
430/C/1 ~N~~ Page 5 P.T.O.
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5. s oot JW 5x + 4y = 20 3R 10x + 8y = 16 :

(a) I IS T & B
(b) o NG &9 & 3MH & &
(¢) o 3fgdia g @
d HIEAT
6. Etl'Fq’x:alsinei’:ﬁ'(y:bcos@%‘,?ﬁ b2x2 + a2y? T R
(a) 1 (b) a2b?
a2 + b2
(c) W (d) a2 + b2
7. BT r; ARy (rg > 1) I FHNATHR IR HT FA TEH &A% (TN
qT &) R
(@) 2n(F+rd) by lr? +12)
(c) 3n rg +7 r? ® (d) 3n r? + 7 rg
K\Q
8. ¥ §gUE AW : @
(@ O0FME (b) 12

(c) ﬁa@%mﬁ% (d) i T& 8
9, T=fafEad # 9 - g T 9y g § 2

(a) (2[ = %f b (2-12

© V2 - (@2+42) @ %
10. %EI'HHTﬁWX2+px—q=Oﬁ5ﬂ§IWﬁﬁ,€Iﬁ :

(a) p?=4q b) p*=-4q

() p%=2q (d) p?=-2q
430/C/1 ~~~~ Page 6
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5. The pair of linear equations 5x + 4y = 20 and 10x + 8y = 16 has:
(a)  no solution
(b)  infinite number of solutions
(c) a unique solution
(d)  two solutions

6. If x=asin® and y=Dbcos 0, then b%x2 + a2y? is equal to :
(a) 1 (b)  aZp?
2 2
© 2t (@ a2+b?
a“b
7. Total surface area (internal and external) of a hemispherical bowl having
radii r; and ry (ry >1¢) is:
@ 2nGF+rd) (b) « mlr] +12)
(c) 3n rg + 7 r% ® (d) 3n r% + 7 rg
K\Q
8 Degree of a zero po@mial is:
NG
(a) O $& by 1
(c) any r umber (d)  not defined
9. Which of the following is an irrational number ?
BoAY 12
(a) 2V3 == (b))  (2-1)
(25~
© V2 - @+42) @ G2+52)
V2
10. The roots of the quadratic equation x2 + px —q =0 are equal, if :
(a) p?=4q (b) p?=-4q
() p?=2q (d) p?=-2q
430/C/1 ~N~~ Page 7 P.T.O.
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11.  Tog3i (¢, 0) AR (0,—c) F A= hI g & :

(a) cJ2 THE
(b)  2c TS
© 2 3
d cTHTE

12. @ =M1, 98 O 9% 1 50 5 cm 8, & Tt Boaehl i {HeATht-SIeT T
2 | SHA W T HT TS &R B

(a) 200 cm?
() 300 cm?
(¢) 125 cm?
(d 250 cm?
™
13. @WWWW@ | 58 e 9&a1 IIed 79 <hl TTRekdT B :
QO
\)
@ & O b =
6 O 6
2 1
(C) g (d) by

14. A el 5ied o ATed 3T S5 A 17 3R 20 7, A1 ATIATA T 3TN

hich 39 Gid"l bl HIEYh BN :

@ 20 b 2
3
(c) 18 d 17
430/C/1 ~~~~ Page 8
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11. The distance between the points (c, 0) and (0, —c) is :
(a) ¢v2 units
(b)  2c units
() 2+Jc units

(d) ¢ units

12. Two cubes each of 5 cm edge are joined end to end. The surface area of

the resulting cuboid is :

(a) 200 cm?
(b) 300 cm?
(c) 125 cm?
(d) 250 cm?
S
13. A die is rolled once, @e probability that the obtained number is more
N
than 5, is : QQ)'
S
5 Q 1
2 b ad
@ = O b =
2 1
ol d -
(c) 3 (d) 3

14. If the mean and the mode of a distribution are 17 and 20 respectively,

then the median of the distribution, using empirical formula, is :

(@ 20 b 2
3
(c) 18 d 17
430/C/1 ~N~~ Page 9 P.T.O.
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15. 3o r a9 39 gaws, fEe SR Hio 90° B, HT AR §

2mr 1 9
(b) 1 21‘
2
o =L
(d) % — r2gin 90°
16. U fgam ague foesh s 73 0 F, ® -
(a xx2-17) b 7x2-1
© +x2-x% @ 7G24T

7

17. T399I ABCH, DE | BC 8 | ¢ AD : DB'=2:3 %, A DE : BC ST 8 :

18. fe7 = fortht g, s =afh it = R 3T BT hl TS THEAH @ |
T 1 AT (altitude) B :

(a) 30° (b)  45°
(c) 60° (d  90°
430/C/1 ~~~~ Page 10

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

15. Area of a segment of a circle of radius r and central angle 90° is :
2
mr 1 o
@ T
2nr 1 o
b 2 _ =
b g
2
nr 1 o
© gt
@ 2™ _ r2gin 90°
4
16. A quadratic polynomial having zeroes 7 and 0 is :
@ xE2-T) (b) 7x2-1
© 2 62-x @ 7627
17 In AABC,DE | BC.IfAD : DB =2: 3, then DE : BC is equal to :
(a) 2:3 (b) 3:5
() 2:5 d 3:2
18. At some time of the day, the height and length of the shadow of a man
are equal. The sun’s altitude is :
(a) 30° (b)  45°
(¢) 60° (d  90°
430/C/1 ~N~~ Page 11
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E?El

B

J97 G&IT 19 3K 20 3997 U d& STIIRT I97 & 3K Yib I3 &7 1 3%
8 | G ®97 137 71T & 57 v @1 71T (A) T GR F1 T (R) GRT Sifaba [T 771
& | 57 3 & T&1 I A4 17T 7T B (a), (b), (c) 3K (d) F & GTHT 1T |

(a) AR (A) 3R @b (R) QI T&l & 37 b (R), AR (A) hT &l
SITEIT hLdl B |

(b)  3THHH (A) 3R Tk (R) GHI HEl &, Tg doh (R), ITMHHAA (A) i T&
e T w1 7 |

(c) AR (A) &l 7, Tg o (R) T4 & |
(d) AR (A) A 8, 94q o (R) F&l 2 |

19. 3% (A): g O Il g9 W PA 3R PB TRI@EE & 3R £ OPA = 30°
3 | T, A PAB T% 0e1g FYH 2 |

7% (R) : e g € 99 W S 15 Si-t@istl i Ararsar ser gl
1 N
N
S A

N

VAN
S

B

20. S7FYT (A): U "SI B hl 9§ GWEHT 8 Al $Eh T shl WTHrehd

0-9999 % |
T (R) : 3T T, fSaent ufed g fFfvea 8, < wikehar @eg 1 gt
2l
430/C/1 ~N~~ Page 12
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e

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the

other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : PA and PB are tangents to the circle centred at O and
2 OPA = 30°. Then, A PAB is an equilateral triangle.

Reason (R) : Length%{g%angents from an external point to a circle are

equ@ length.
\Q(Z)-
Q

§§

A,
-

20. Assertion (A): An event is very likely to happen if its probability is

0-9999.
Reason (R): Probability of a sure event is always 1.
430/C/1 ~N~~ Page 13 P.T.O.
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LCRCRC)

57 GUE 7 37fd TY-FTHIT (VSA) IR & J97 &, o978 9% & 2 376 & |

21.  Tagawi (1, - 4) 3R (6, 5) HI TS I WG FI x-37& 7 37guma # fawifora
AT 7, IH G HIT |

22. (%) cuisy fp forefl off wmha @& n & foru, @@ 87, o7& 0 W &l off
AT 81 &l Fehdl 2 |
JroraT

(@) AT PrEved fafer &y @, st 96 3 160 w1 LCM 3R
HCF 31 it |

23. H e T 91y 3B IQ B |
G) o gva gl w1 fafg |

(i)  3AfIH-g-3T(ereh 2&%\%?-?! i <hl IRk JTd hifvTT |
§Q§
24. (%) A=30°$ = 60° % foru, fafafea =1 aenfua Hifse

Q

N\) tan B — tan A
t B-A)=
an{ ) 1+tan A tan B

AT
(@) ¥ d HIT
sin2 60° — 2 cos?2 45° + % cosec? 30°
25. Tk Id H g AR B F i e =aw@ * 3@ 95 (3, —10) 3R
(1,4) g |

430/C/1 ~N~~ Page 14
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Find the ratio in which a line segment joining points (1, — 4) and (6, 5) is
divided by the x-axis.

22. (a) Show that 8" can never end with the digit 0 for any natural
number n.

OR

(b) Find LCM and HCF of 96 and 160, using prime factorisation
method.

23. Three coins are tossed together.
) Write all possible outcomes.

(ii))  Find the probabili@&)f having at most 2 heads.

%

24, (a) ForA-= 3& dB 60°, verify that

%Qcan (BoA)< tanB — tan A
1+tan A tan B

OR

(b) Evaluate :

sin2 60° — 2 cos?2 45° + % cosec? 30°

25. Find the centre and radius of a circle having end points of its diameter as

(3,-10) and (1, 4).

430/C/1 ~N~~ Page 15 P.T.O.
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wQ|us 1

57 GUE 7 7Tg-I70F (SA) FHR & F97 5, 577 T3 & 3 37% & |

26. (%) @ W s A, %:%@umn:zmn% | zfew 6

A ABD ~ A EBC.
E

B C

HAYAT

(@) < Tg R H, ABC 3R AED 1 g°ah[U1 54+ &, {5 i B 3R E
WW% Iﬁ:@ﬁﬁm%:

C
&
SRl
Q&
@Q\Q \
S -
A B D

(1) _AABC~AAED
(ii)) ABXxAD=ACx AE

27. WEYG x2 - 11x + 18 Y[k HTd SHIY AT T IhI HI TR < &=l
HaYg 6l AT I A HIWT |

28. fug dhifSw .

tan 0 cot O

+ =1+ sec 0 cosec O
1—-cot6 1-tan6

430/C/1 ~~~~ Page 16
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SECTION C
This section comprises short answer (SA) type questions of 3 marks each.

BC BE

26. (a) In the given figure, BD - AC and £ ABD = £ ACD. Show that
A ABD ~ A EBC.
E
A
B 5 C
OR

(b)  In the given figure, ABC and AED are two right triangles, right
angled at B and E respectively. Prove that :

C
Qg
S$
S
g \
@Q " I_B D

(1) A ABC~ A AED
(i) - ABXAD=ACXxAE

27. Find the zeroes of the polynomial x2—11x+ 18 and verify the

relationship between the zeroes and the coefficients.

28. Prove that:

tan 0 cot O

+ =1 + sec O cosec 0
1—cotO 1-tan®

430/C/1 ~N~~ Page 17 P.T.O.
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29. (%) fughifufr 2+3/3 s s 2 | s femmn 2 f6 V3
Teh YNHY G R |
JreraT
(@) fag Hife fr 5 Tt srufes ae 7 |

30. QI T % &Gl HT AT 468 m2 B | AR 5 Al hl et h TS B
3T 6 m &, A QI Il hl YT hl TEETSAT TG hIT |

31. @ T omfd H, %hg O I Y ThT I qWiw M F | T FA A Hreand
OA=3cm3NOB=6cm % |

Q
mmg@mm@m(n:g-lmmaﬁﬁq)

QU g
59 G5 8 H-350% (LA) YR & 97 &, 574 Ied &5 37 & |

32. (%) Ngs TR & I : 2x —y = 2 AN 4x — y = 4 1 &, WH fafer &
1 HINT |
JroraT
(@) 5P AR 199 H A oI T 1,750 7; Sk 4 P& AR 3 TS Hl

FA G T 1,9508 | 1 3 1A 1 goI F1q hifoe | 10 FHhRei
3T 10 TSIt %1 A qoF foha1 BAT 2

430/C/1 ~~~~ Page 18
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29. (a) Prove that 2 + 343 is an irrational number. It is given that /3 is
an irrational number.

OR

(b) Prove that /5 an irrational number.

30. Sum of the areas of two squares is 468 m2. If the difference between their
sides is 6 m, then find the sides of the two squares.

31. In the given figure, two concentric circles are shown, centred at O. The
radii of the circles are OA = 3 cm and OB = 6 cm.

S

Find perimeter %@e shaded region. (Use n = 3:14)
@$

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. (a) Solve the pair of linear equations, 2x —y = 2 and 4x — y = 4,
graphically.
OR
(b) 5 chairs and 1 table together cost ¥ 1,750; while 4 chairs and

3 tables together cost ¥ 1,950. Find the cost of one chair and of one
table. What would be the total cost of 10 chairs and 10 tables ?

430/C/1 ~N~~ Page 19 P.T.O.
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33. Tig Ife fop we amer fog @ g W i 78 Tonit@nai hi Aresar sHel
2l 8 |

34. 3dIfc AD @1 PM i ABC 3R PQR I wu: wifeyshd 2, &l

AB AD
AABC~APQR%,?ﬁ1‘343;\6!%%&%ﬁ = oni”

35. (%) Ti=faRaa aweft fret g & 100 ®MI | 83T Wfd dFR (ha) 15 H

RIS I _G{Sﬁ_cﬁ % :

Fee .

(kg/ha ¥) e
50 — 55 2
55 — 60 8
60 — 65 12
65 — 70 24
70 - 75 38
75-80 | & 16

N N

3T TRl H1 &% 3R HIEAH FTq HITT |
N
Q\QCHWT
(@) ﬁ%ﬁéﬂqmmmﬁzaﬁtwmﬁﬁq |
R : .
: BT T T

(kg )

40 — 45 5

45 - 50 11

50 — 55 20

55 — 60 24

60 — 65 28

65 — 70 12

430/C/1 ~~~~ Page 20
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33. Prove that the lengths of the tangents drawn from an external point to a

circle are equal.

34. If AD and PM are medians of triangles ABC and PQR respectively, where
A ABC ~ A PQR, prove that AB = AD .
PQ PM
35. (a) The following table gives production yield per hectare of wheat of

100 farms of a village :

Production yield | Number of
(in kg/ha) farms

50 — 55 2
55 - 60 8
60 — 65 12
65 —"70 24
70 - 75 38
75-80 {\Q@ 16

Find the me@Qﬁnd median of the data.
§&Q OR
(b) Find t%e mean and the mode of the data given below :

Weight Number of

(in'kg) students

40 — 45 5

45 - 50 11

50 — 55 20

55 - 60 24

60 — 65 28

65 —-"170 12

430/C/1 ~N~~ Page 21 P.T.O.
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[=]3% =]
e
Qe T
59 GG H 3 YUl 3eqTT STENRT F97 8 577 I & 4 37 & |
TEHTUT LTI - 1

36. Uk Ug hl U : T Ug &l 3¥ fyifid & &1 ge@ ol altew ahgl &
ferehrer < aTftioh el shi 7O AT & | UET & U Ik AT e R

$ ‘:,\

Teh g g w9 & fore, o fawm 3 @vg ACBA (fF 3) fafia e 2
Ifg ST AB g W 90° T IV SATdT B 30T ¢eh &l AT 21 cm B, O I
Hife

C
(i) ST AB & TEE | 1
(ii) A OAB T &9%d |
(iii) (%) TaGE ACBA HI &% | 2
Jrora
(i) (@) F=aEs OACBO %1 i@ | 2
430/C/1 ~N~~ Page 22
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SECTION E
This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Age of a tree : The most accurate way to determine the age of a tree is to
count the annual rings of wood growth. One such trunk has been shown
here.

To make an identification mark, the forest department has painted
segment ACBA. (See diagram) If chord AB makes an angle 90° at the
centre and radius of the trunk is 21 cm, then find the :

C
(1) length of chord AB.
(i1) area of A OAB. 1
(iii) (a)  area of segment ACBA. 2
OR
(i) (b)  perimeter of sector OACBO. 2
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37. U BIF feamsR Hfsep Ted feomea o w1 2 | 9 ufk O $© owEfea ot
3R SRt Brgst 7 |

------- AR E T X EEE >

A — —h — A A A A AN

ITYTE o YR I, ®El$ﬁ§53?|'{‘qﬁﬁm:

N
(i) ¥k dfh [ %1 §&AT o T AP, F1d HINT | 1
N
(ii) W%ﬁﬁﬁaﬁaﬁﬁw%mA.Rm?ﬁml 1
(i) () ~IG IAh SR a Sl YT 2 cm 8, Al SMThd &I AT
SHifSTe, 9 15 iwal i TSAme fopam = &t | 2
AT

(i) (@) ‘o uiw H e ¥ Gysi H FA ged 9w R
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Case Study - 2

37. A fashion designer is designing a fabric pattern. In each row, there are

some shaded squares and unshaded triangles.

Based on the above, answ e following questions :
Q
N
) Identify A. r the number of squares in each row. 1
@Q
(ii) Ident% A.P. for the number of triangles in each row. 1

(iii) (a)  If each shaded square is of side 2 cm, then find the shaded

area when 15 rows have been designed. 2

OR

(iii)) (b)  Write a formula for finding total number of triangles in ‘n’

number of rows. Hence, find Sy,. 2
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Case Study -3

38. Totem poles are made from large trees. These poles are carved with
symbols or figures and mostly found in western Canada and
northwestern United States.

In the given picture, two such poles of equal heights are standing 28 m
apart. From a point somewhere between them in the same line, the
angles of elevation of the top of the two poles are 60° and 30°
respectively.

Based on the above, answer the following questions :

1) Draw a neat labelled diagram. 1
(ii)) (a) Find the height of the poles. 2
OR

(i) (b)  If the distances of the top of the poles from the point of
observation are taken as p and ¢, then find a relation

between p and q. 2
(iii)  Find the location of the point of observation. 1
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